EC 231 – International Trade

Spring 2005 – Final Exam
Please answer both questions in section A.  You should then choose THREE questions from section B (I will grade the first three only).

Section A – Answer both questions:
The United Kingdom is one of the few members of the European Union that is currently experiencing significant growth.  The numbers below represent the UKs international transactions in 2000.  Use them to construct:

a.
A merchandise trade account

b.
A current account

c.
A capital account – separate out DFI

Real Estate Acquisitions by UK overseas = $200 B

Imports of Goods = $490 B

Foreign Purchases of UK Companies/establishment of companies = $80 B

UK purchases of foreign financial assets = $510 B

Foreign Purchases of UK financial assets  = $490 B

UK Purchases of Foreign Companies/establishment of companies = $90 B
Export of Goods = $520 B

Unilateral transfers abroad = $15 B

Import of services = $90 B

Foreign purchases of UK Real Estate = $210 B

Unilateral transfers to the UK = $4 B

Export of Services = $ 70 B


Part II – Demonstrate the off-setting nature of the capital and current accounts.

Part III – Under fixed exchange rates, what would happen to the reserves of the UK?

2.
As you know from class, aluminum is produced from bauxite, an ore mined in countries like Jamaica and Suriname.  Suppose the production of a dozen aluminum cans can be described as:






Bauxite:
$1







Aluminum
$2







Cans

$4


Calculate the value-added at each stage of production.  If the U.S. placed a tariff on aluminum to protect Alcoa of 20%, and a tariff on the cans of $10, what is the effective rate of protection of aluminum cans?

a.
If the tariff on aluminum is removed, what is the effective rate of protection?


b.
Why would it not make sense to tariff the bauxite?

Section B – Answer three questions only (maximum of 4 blue book pages each):
1.
As you now know, attempts were made to form cartels of commodity producers in the 1970s.  Most of these attempts were failures.  Pick one of the seven markets we analyzed, and describe the five conditions of cartelization as they apply to that market.    Comment on the UNCTAD 1976 declaration that listed dozens of potentially cartel markets.  What was wrong with many of the suggestions?
2.
Describe the structure and purpose of the European STABEX system.  Would were the positive aspects (at least from the point of view of developing nations).  Why did the WTO rule the program illegal?  


Part II – Describe in some detail what Fair Trade is and tries to accomplish.  Why is the WTO unable to regulate Fair Trade as it did the STABEX program?

3.
Explain trade creation and trade diversion.  Why is this a significant issue when one examines regionalism versus globalization?  Why is the issue more important when dealing with integration movements that have moved beyond free trade areas?  Discuss in the context of the European Union or CARICOM.
4.
Sugar exporters have faced declining prices due to worldwide over-production.  Below are figures that represent the market price of sugar, and the price paid by developing nations for machinery imports:




Year

   Price of Sugar
    Price of Machinery





   1

       $1.20/lb


$300/unit





   2

       $1.24


$320/unit




   3

       $1.27


$335/unit


Calculate the terms of trade for sugar exporters.

5.
The U.S. has placed restrictions on the import of textiles for many years.  There have also been restrictions placed on a variety of other products for a variety of political and economic reasons.  In class, we discussed 4 reasons for trade restrictions:
-“Cheap Labor”

-National Defense

-Infant Industry


-Anti-dumping

Which of these do you think applies to textile imports?  Which was applied to Harley-Davidson?  Why might we get a tariff on computer chips?  Critically evaluate two of these four reasons for restricting trade.
